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Max. Marks: 75
SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. What is Batch Costing?
2. Explain Escalation Clause.
3. From the following data calculate the cost of goods sold:
         Cost of Production: `1,83,500, Opening Stock of Finished Goods: `71,500, Closing Stock of Finished Goods: `42,000.
4. Calculate the economic batch quantity for a product using batch costing from the following details:
Annual demand for the product

=
2,000 units

Set up cost per batch



=        `10.

Cost of carrying inventory per unit
=
 `1

5. Mention the types of services for which Operating Costing would be suitable.
6. A transport service company is running four buses between two towns which are 50 kms apart. Seating capacity of each bus is 40 passengers. Actual passengers carried were 75 per cent of the seating capacity. All the four buses ran on all the days of the month April, 2015. Each bus made one round trip per day. Calculate total kms and total passengers kms for the month.
7. The following details are given to you:
Contract price `1,00,000; work certified `80,000; Cost incurred to date `60,000.
Determine the profit to be taken to P & L A/c if 75% of work certified is received in cash. 
8. State any two feature of Process Costing.
9. Find out the selling price:
     Cost of Sales `80; Profit @ 20% on sales.
10. State the Meaning of Joint Products.
11. Prepare process ‘M’ Account from the details given below:
Process Input: 200 units, output 190 units

Normal loss is at 5% of input.

The process costs were: Material (200 units) `10,000; Wages




    `6,000; Overheads `3,000.
12. 10,000 units of raw materials are introduced into a process at cost of `20,000. Wages and overheads      
for the process are `5,100 and `3,400 respectively. 7,500 units were completed; of the remaining
2,500 units on the average 40% work has been done. Ascertain the cost of one completed unit.
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. Define Job Costing. What are the feature of Job costing?
14. The following figures are collected from the books of the Iron Foundry after the close of the year:
	
	   `   
	
	  `
	

	Opening stock in the beginning of the year
	7,000
	Direct Wages
	10,000

	Purchases during the year
	50,000
	Works overhead 50% of direct wages
	

	Closing stock at the end of the year
	5,000
	Stores overhead on material 10% on the cost of materials
	



10% of the castings were rejected being not up to the specification and a sum of ` 400 was realised             

on sale as scrap. 10% of the finished castings were found to be defective in manufacture and were   

rectified by expenditure of additional works overhead charges to the extent of 20% on the   
  proportionate direct wages.The total gross output of casting during the year was 1,000 tons.

Find out the manufacturing cost of the saleable casting per ton.


15.  From the following data relating to vehicle A compute the cost per running tonne-km:
	
	Vehicle A
    `

	Kilometres run (Annual)
	15,000

	Tonnes per km. (Average)
	6

	Cost of vehicle 
	2,50,000

	Road Licence (Annual)
	800

	Insurance (Annual)
	700

	Garage rent (Annual)
	1,300

	Supervision and Salaries
	2,700

	Driver’s wages per hour
	4

	Cost of fuel per litre
	6

	Kms. run per litre
	20

	Repair & Maintenance per km.
	2

	Tyre allocation per km.
	1

	Estimated life of vehicles
	1,00,000 kms.


 Charge interest at 5% per annum on cost of vehicle. The vehicle runs 20 kms. per hour on an  
          average.
16. The following is the information relating to Contract No.123
   `



Contract Price

6,00,000




Wages


1,64,000




General expenses
     8,600




Raw Materials

1,20,000



Plant



   20,000

As on date, cash received was `2,40,000 being 80% of work certified. The value of materials remaining    

at site was `10,000. Depreciate plant by 10% Prepare contract Account showing profit to be credited to     

P & L A/c.
17. Thiyaga Chemical Co. Ltd. Produced three chemical during the month of July 2013 by three  
consecutive processes. In each process 2% of the total weight put in is lost and 10% is scrap which from processes (1) and (2) realises ` 100 a ton and from process (3) ` 20 a ton.


The products of three processes are dealt with as follows:
	
	Process 1
	Process 2
	Process 3

	Passed on to the next process
	75%
	50%
	-

	Sent to warehouse for sale
	25%
	50%
	100%

	
	
	
	

	
	
	
	

	Expenses incurred:
	`
	 Tons
	`
	Tons
	`
	   Tons

	Raw Materials
	1,20,000
	1,000
	28,000
	140
	1,07,840
	1,348

	Manufacturing wages
	20,500
	-
	18,520
	-
	15,000
	   -

	General expenses
	10,300
	-
	7,240
	-
	3,100
	   -


          Prepare Process Cost Accounts, showing the cost per ton of each product.

18.  In the timber industry, the milling operations to the split off point during a period amounted to `       
17,400 with the following production:
	First grade timber
	400 units

	Second grade timber
	500 units

	Third grade timber
	600 units

	
	1,500 units

	
	

	
	


You are required to apportion the joint cost on technical evaluation with points 5, 4 and 3 for first, second and third grade respectively.

19.  In the manufacture of main product, 200 units of a certain by-product were produced. The market value of the by-product was `40 per unit. The by-product required further processing costs amounting to `3,000 and selling and distribution overheads amounting to `500 are incurred. Calculate the amount to be credited to the Process Account in respect of the by-product.
SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions
20. From the following particulars prepare a Production Account showing all details of cost and their break up and also calculate gross profit and net profit.
	
	    1-9-2013
	  1-9-2014

	
	     `
	  `

	Stock of Raw Material
	75,000
	91,500

	Stock of Work in Progress
	28,000
	35,000

	Stock of Finished Goods
	54,000
	31,000


	
	`
	
	`

	Direct Expenses
	1,500
	Sales
	2,11,000

	Raw Materials Purchased
	66,000
	Salesmen Salaries and Commission
	6,500

	Direct Wages
	52,500
	Office Rent, Rates, Etc.
	2,500

	Indirect Wages
	2,750
	Sundry Office Expenses
	6,500

	Depreciation on Plant & Machinery
	3,500
	Advertising
	3,500

	
	
	Carriage outwards
	2,500

	
	
	
	

	
	
	
	

	
	
	
	


21. SNG Transport Company has been given a route of 20 km. long to run a bus. The bus costs the company a sum of `50,000. It has been insured at 3% p.a. and the annual tax will amount to  `1,000. Garage rent is `100 p.m. Actual repairs will be `1,000 and the bus is likely to last for 5 years.
               The driver’s salary will be `150 per month and the conductor’s salary will be `100 p.m. in addition to 10% of the takings as commission (to be shared by the driver and the conductor equally). Cost of stationery will be `50 p.m. Manager-cum-accountant’s salary is `350 p.m.
                Petrol and oil will be `25 per 100 km. The bus will make 3 round trips carrying on the average 40 passenger on each trip. Assuming 15% profit on takings, calculate the bus fare to be charged from each passenger. The bus will run on an average 25 days in a month.

22.  A certain product passes through three processes before it is completed. The output of each process is charged to the next process at a price calculated to give a profit of 20% on transfer price (i.e. 25% on cost price). The output of Process III is charged to finished stock account on a similar basis. There was no work-in-progress at the beginning of the year and overheads have been ignored. Stock in each process have been valued at prime cost of the process. The following data are obtained at the end of 31st March, 2013:
	
	Process I
	Process II
	Process III
	Finished Stock

	
	   `
	      `
	       `
	         `

	Direct material
	4,000
	6,000
	2,000
	            -

	Direct wages
	6,000
	4,000
	8,000
	             -

	Stock on 31st March
	2,0000
	4,000
	6,000
	3,000

	Sales during the year
	     -
	        -
	         -
	36,000



          From the above information prepare:
(i) Process cost accounts showing the profit element at each stage:
(ii) Actual realised profit; and
(iii) Stock valuation as would appear in the balance sheet.
23.  During January 2,000 units were introduced into process I. The normal loss was estimated at 5% on     
   input. At the end of the month, 1,400 units had been produced and transferred to the next process,   
   460 units were uncompleted and 140 units had been scrapped. It was estimated that uncompleted   

  units had reached a stage in production as follows:

	Material
	75% completed

	Labour
	50% completed

	Overhead
	50% completed


The cost of 2,000 units was `5,800.
Direct material introduced during the process amounted to `1,440
Direct wages amounted to `3,340.
Production overheads incurred were `1,670.
Units scrapped realised Re. 1 each.
Units scrapped passed through the process, so were 100% completed as regards material, labour and overhead.
Find out (a) Equivalent Production, (b) Cost per unit, and (c) show the necessary accounts.

—————
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